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(1).{1,25} =>9

(2).{1,2,6} => 10
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(3).{1,2,5} =>9

{36} =>7 12+32 = 1+9 = 10
(4).{1,25} =>9

{4,6} =>9 12+12=1+1=2
(5).{1,2,5} =>9

{6,8} =>8 12422=1+4=5
(6).{1,2,6} =>10

{35} =>6 0°+4?2=0+16 = 16
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(7). {1,2,6} => 10
{45} =>8 0%+22=0+4=4
LA % e Ak A > Fl IS
(8).{1,2,6} => 10
{58} =>7 0%+32=0+9=9
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(9). {1,25} =>9
{36} =>7
{47} =>10 124+32+02= 10
L) ¥ 22 ARk RA 0 Fltigis
(10). {1,255} =>9
{36} =>7
{8} =>6 124+32+42= 26
(11). {1,2,5} =>9
{4,6} =>9
{3,77 =>8 12412+2°= 6
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(12). {1,2,5} =>9

{46} =>9

{8} =>6 1°+1%+4°= 18
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(13). {1,2,5} =>9

{6,8} => 8

{3,10} => 10 1242240°=5
(14). {1,2,5} =>9

{6,8} =>8

{4} =>7 12422+32= 14
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(15). {1,2,5} =>9
{36} =>7
{8} =>6
{47 => 10 12+32+42 +0% = 26
2 (20) % pc > L Ak AL o FlE gk
(16). {1,2,5} =>9
{36} =>7
{8} =>6
{10} =>5 124+32+42 +52= 51
B(21) & »x > L Bk gL o Flp gk
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(17). {1,2,5} =>9

{46} =>9

{37} =>8

{8 =>6 1°+12+22+4°=22

B(20)% »x > e Han kL 0 Fltigik
(18). {1,2,5} =>9

{46} =>9

{37} =>8

{9} =>5 12+12+22+5%=31
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(19). {1,2,5} =>9

{6,8} =>8

{3,10} => 10

{4,7} => 10 12+22+02+0%2=5
(20).{1,2,5} =>9

{6,8} =>8

{4} =>7

{3,7} =>8 1°+22+32+22= 18
(21). {1,2,5} =>9

{6,8} =>8

{4} =>7

{3,10} =>10 12+22432+0°= 14

19
L9
*
d
T
T
®
:
-
2
- 9
-
= ®
= 2
. B




7

NS

(22). {1,2,5} =>9

(5

{4,6} =>9

{3,7} =>8

{9} =>5

{8 =>6 12+12+22 +52+42 = 47
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(23). {1,255} =>9

{6,8} =>8

{3,10} => 10

{4,7} =>10

{9,11} =>9 12+2°+0°+0°+12=6
(24).{1,2,5} =>9

{6,8} =>8

{4} =>7

{3,7} =>8

{9,10} =>10 12422432 +22+0%°= 18
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(25).{1,2,5} =>9
(6,8} =>8
{4} =>7
{3,101 => 10
{79} =>8 12+2°+32+0%+22= 18
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